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A data card when sold for Rs. 14950 fetches a profit of 30%. Find the cost price of the
data card. (In Rs.)

UP SI 2021 13 NOV

1) 9500
2) 10500
3) 11500
4) 12500
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The value of a ruby varies directly as the square of its weight. One such ruby is broken
and the weights of its pieces are in the ratio 2 : 3 : 4. If the loss due to breakage is T

26,000, then what was the cost of the original ruby? UP SI 19 DEC 2021

1) 50500
2) 50000
3) 45000
4) 40500
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The difference between a gain of 15% and a loss of 9% is Rs. 768. What is the cost price

of the item being talked about here? UP CONSTABLE
26 OCT 2018

1) 2640
2) 2880
3) 3200
4) 3440
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By selling 33 meters of cloth, a shopkeeper earns a profit equal to the cost of selling 11
meters of cloth. What is the profit percentage?

4 4 _.-'r'
2

UP SI 2011

1) 33 (1/3)%
2) 66 (2/3)%
3) 25%
4) 50%
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An article was purchased for Rs 600. If 3/4th of the article is sold at a profit of 10% and
the rest at a loss of 20%, find the overall profit or loss percent?

UP SI 19 DEC 2021

1) 3% Loss

2) 4% Loss

3) 2.5% Profit
4) 5% Profit




919151 STATE 2023 £

A 7 T IE] TG 3R 38R A0FId WX Rs. 550 T foru) TRt 3o 3@
I TSl B 5 36 20% BT 9R C i 9 @am) 3fad: C 939 30% 19 W Rs. 6864 W &<
faem A 7 g & ToTe foRamT spmam femam? (Rs. )

A bought an article and spent Rs. 550 on its repairs. He then sold it to B at a profit of
10%. B sold it to C at a loss of 20%. C finally sold it for Rs. 6864 at a profit of 30%.
How much did A pay for the article? (In Rs.) UP SI 2021 2 DEC

1) 5450
2) 5550
3) 5650
4) 5750
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A watch is sold at a profit of 25%. If this watch is bought at 25% less and sold at T 25
less, there is a profit of 25%. Find the cost price of the watch?

UP SI 19 DEC 2021

1) 80

2) 100
3) 120
4) 200




1919167 STATE 2023

T Raeite o1 sifera Tear 5. 1800 2 Tarsht o SR 20% 3R 15% aﬁﬁmﬁqﬁana‘r@%aﬁ
Tﬁﬁ‘ﬁaﬁfﬁiEﬁrﬁﬁaawtgﬂaiﬁsaqTEﬁnn?

The marked price of a toy was Rs. 1800. Two successive discounts of 20% and 15%
were offered during the sale. What will be the selling price of the toy?

UP CONSTABLE
26 OCT 2018

1) 1202
2) 1224
3) 1179
4) 1230
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A trader sold a mixer for €420 at a loss of 12.5%. For what amount should he have sold

. 0/ 9
the mixer to make a profit of 12.5%"? UP SI 2011

1) 540
2) 600
3) 680
4) 520
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30 chocolates were bought for one rupee. How many chocolates should be sold for one
rupee to gain 20%?

X 1) e

UP SI 19 DEC 2021

1) 20
2) 25
3) 40
4) 27
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Atul bought a cycle at three fourth of its marked price and sold it at 20% more than its

final price. What will be the profit percentage?
UP S119 DEC 2021

1) 35
2) 55
3) 60
4) 75




1) a




